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BIEXHR

1T 01>=4T 02

1T 01>=1T 03

1T 02>=1T 04

1T 03>=4T 04
FEAXHR:

[Edk 461]. (47 01, %1 1) <=[@g3 411]. (47 0L, %] DD
[t 4611, (4T 02, %) 1 <=[m3 411]. (4T 02,%] D
[Edk 461]. (47 03, %] 1) <=[@g3 411]. (47 01, %1 3)
[t 461]. (4T 04, %) D <=[m3 411]. (4T 02, %1 3)
[ 461]. (4T 01, %) 2) <=[F3# 411]. (4T 0L %] DD
[t 461]. (4T 02, %) 2) <=[mE3 411]. (4T 02,%] D
[Edk 461]. (47 03, %1 2) <=[@g¥ 411]. (47 01, %1 3)
[t 461]. (4T 04, %) 2) <=[m3 411]. (4T 02, %1 3)
[Edk 461]. (47 01, %1 3) <=[@g3: 411]. (47 0L, %] DD
[Edt 461]. (4T 02, %1 3) <=[F@# 411]. (4T 02,%1 1)
[EdE 461]. (4T 03, %1 3) <=[@&¥# 411]. (4T 01, %1 3)

[t 461]. (4T 04, %) 3) <=[F@# 411]. (4T 02, %1 3)
[E3E461]. (4T01,514) +[F3E461]. (AT01,315) +[EF£461]. (4701,%16)

<=[E#411]. 470151
[FE2R461]. (4T702,514) +[&3E461]. (4T02,515) +[E2E461]. (1702,516)



<=[FE#£411]. (4702,%511)
[F3£461]. (4703,514) +[E3E461]. (1703,515) +[E3E461]. (1703,%16)
<=[m3£411]. (4701,513)
[E3E461]. (4704.54) +[E3E461]. (4704,41)5) +[EHE461]. (4704,%16)
<=[f%E411]. (4702,513)
[Fi2E461]. (4T01,517) <=[Fi%E411]. (4701,511)
[Fi2£461]. (1T702,517) <=[m2£411]. (4702,51)
#4611, (4T703,5107) <=[/m#L411]. (4T701,513)
[F3£461]. (4T04,507) <=[f3£411]. (4702,513)
[F12£461]. (4701,518) <=[m2E411]. (4701,511)
[Fi2£461]. (1T702,518) <=[m2£411]. (4702,51)
[F3£461]. (4703,518) <=[m3£411]. (4701,513)
[E2R461]. (4T04,518) <=[fm#E411]. (1702,%13)
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